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TOCTORFTON TR0, AP :
General Instructions to the Candidate :

1. 33 @ qa_%ﬁoiw d@@?’% 5333 oDeT'iOSDED?"% vApintelove) 2,@@33@3 34 @@lﬁ@&& ﬁmo@d&,
N - & Y IO - W NI LIRRORT. Porr - @ IO, Bnkd 08,50E
TOWORT @%ﬁ@d%, gon - @ I¢ Functional English 71 Z0woAT
@%ﬁ@&§$.

This Question Paper consists of objective and subjective types of 34
questions including Section — A and Section — B. Section — A consists of

questions related to the subject Information Technology and Section - B
consists of the questions related to Functional English.

2. B BITGIONTY WmND I 0 FeBT (1) TRFCNT. B
2, BOLIONyEs RaRd0do8, ey B3 B, 0 WO WBFHIY 3I0R, T,I B, TN,
DY BDeINT B5030¢ 0T waeg%@m%.
This question paper has been sealed by reverse jacket. You have to cut on the

right side to open the paper at the time of commencement of the examination.
Check whether all the pages of the question paper are intact.

3. HRIF BB WFODIF BRTOOD T,Z NN 33 TE ALWINTS) TR,

Follow the instructions given agamst both the objective and subjective
types of questions.

4. WO mﬁdQ@@@i&d 903N @%ﬁ@ﬂd&w TPEE @oﬁrﬁ@é@L ZRe0ROSH.

Figures in the right hand margin indicate maximum marks for the question.
5. HIJGIDT) WRERTLD 15 WANME TRHETY) FeOWOE,  YUZOILD
INOTERAGT A0S @@iﬁ%@oﬁo ﬁoe%ﬁd@q QeTBSONT.
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The maximum time to answer the paper is given at the top of the question
paper. It includes 15 minutes for reading the question paper.

oN — D
SECTION - A
I 3 39NS [Znont ogsme oFper Sevsneon SO, esos%mfagl QBN
SRNTY, T, RATeT LUITHITY, S0¥, BWT F,T|RFOBRORN Tpear
NBTIY W30 : 7x1=7

Four alternatives are given for each of the following questions /
incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :

1. Foss oY (Webpages) NES), B AT 3908,FRQT W 3908,3
WHBTIITOOT WA 23wF 0 3O Fes

(A)  Tpe, (B) W
(C) QTR (D) e9B20e3°

A discussion style site used by non-technical and technical users

for creating personal web pages is
(A) Post (B) Blog

(C) Style (D) Account

2. B3 TYNTRYNYY, CINRRTO FT°TR° 0RO FOTFF T IFwoNVR DY,

(A) -

&

B -3
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(C) ToDher - (D) 5G

Which of the following is NOT a wireless type of Internet

connectivity ?
(A) Wi-fi (B) Wi-Max

(C) Dial-up (D) 5G

B8030 BRBT JTT.TE). T OBONTT) TRT  SBONONT  WBDCTOD
S BRE oIS =] )
LWEROT 6303%

(A)  SeecdT Fex® (B) o3, 3ex°

(C) ne® dex® (D) ©TO* gex*

The option used to convert small letters to capital letters in

selected text is
(A) Lower case (B) Sentence case

(C) Toggle case (D) Upper case

T3, 0O, 'S eﬁoiotofm 33 FINT 39,27 VRODY, 0L 0T
(A) TR W (B) 0,73 83,0

(C) SHees® Seles e, (D) TResF &30, 8

Paragraph selection option is available in the following tab

(A) Insert tab (B) Format tab

[RR-A(210)1061| 5 [ Turn over
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(C) Page layout tab (D) Home tab

5. TT TBRTH ©RODY, 0000 Bl
(A) A eT° (B) =sre®

(C) &303none® (D) e:%drae

The option available under wrap text is
(A) Square (B) Circle

(C) Triangle (D) Arrow

6. DBOTHYOD B0, 03T, AW REFTRSF DeFFOIPNTITT
(A)  Beer® Selees® 3,
(B) 330 R
(C) PT AT P,

(D) ToTF e 3,

The default view in spreadsheet software is
(A) page layout view
(B) custom view

(C) full screen view

|[RR-A(210)1061 | 5
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(D) normal view

7. 8 eﬁoﬁ%ojaa @c%meo TN m@m@s fostectond @@L ?&dmﬁm:gfd

(A) e (B) mouFe
© I (D) @0

The option which helps the header of row and column to remain

constant is

(A) Freeze (B) Sort
(C) Hide (D) Filter
1L ReYaes $u3R0E TR RYR PoF RN : 3x1=3

Fill in the blanks with suitable answer :

8. WAN S DBT TRT oo, :

The acronym for WAN is .................. .

9. Qe wooZdd (Website) noR gjeed ImBoon AT IYeod
TOFRUT’TY, TWART  FRETDONTD), v OT
FTC300223.

The programs that are created on your local computer when you

visit websites are called .................. .

10. &30S 2,030 @%m@@t nOTOSROR @5325 CADRS bR )

[RR-A(210)1061| 5 [ Turn over




86-EK (Level-2) 6
The unique value that identifies a row in a table is ............... .
Im. 11. Awéio:be?o QBOITIVOR e&o.‘i%ﬁeéasimsg Bw%osaq OR)NY moo”@ﬁ@&?’l
QeBSONT. @@ﬁ@ﬁ% BROVY emgdmfmq 3, SI0FTTRTE WI000
4xXx1=4

Options of spreadsheet is given in Column-A and their groups

are given in Column-B. Match them and write answer with

alphabet :
A-T& B-3¢&3
eJ eJ
Column-A Column-B
i) 2._3)@5; a)  DJYA MO0
Breaks Styles group
i) Qe ﬁea; b) QBN MOOR)

Freeze panes Editing group
iii) BORCWI® FoTIoFE3ON¢ c) T A3 ST Moo

Conditional formatting Page setup group
iv)  dResR d)  QoERe 0T
Autosum Window group

€) PoOLF NOOR)

Font group
) eaEe gelers)

Insert group

g TR MOoR)

Data group
IV. 8339 T3 nert eu3oR : 6x1=6

Answer the following questions :

12. T £3) LET® OO 0BT ?

|[RR-A(210)1061 | 5




13.

14.

15.

16.

17.

7 86-EK (Level-2)

What is peer to peer network ?

33nec3es) 0BT ?
What is header ?
O3 mgws @@Oﬁ&@?ﬁﬁ?pﬁ ?@GEG efoﬁ%ojo @&%@d ?

In which tab section break option is available ?

3830087 mwoi@em%fs% 2TC0.

Write the uses of Autosum.

R Qe ébegﬁodosi 98 WERTPNTT ?

Why is full screen view used ?

NBOTTFODY, LOWTDT  Fed VTR FEOTL  WIROD TOBRTSY,

203C0.

Write the steps to insert vertical page break in spreadsheet.

83 BINT T,Z Nt LUZoR ¢ 5x2=10

Answer the following questions :

18.

VTHORTFHODQ, & €333 £I0ITY, FeOAIT BOINTFSY, WICWO.

S
Write the steps to insert footer in word document.

&pwo [ OR

wcﬁﬁof‘%d%oja@jgpseé,?F Siae) ReoROW TOBNYIY WB00.

[RR-A(210)1061| 5 [ Turn over
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VI.

Write the steps to insert clip-art in word document.

19. QBOTTLOZD OTRF)TOTTHR T, WS eﬁosmf?% mgjma
List any four chart elements in spreadsheet.

20. T BJOBEFS Q0TI 7 GBRT &S wRODY, TOTIFD
TOFBORONGD ewsé)dogd ?
What is a slide transition ? In which tab transition effects are
available ?

21. AROOD IDFTHE Q0TI 7 BBR, AT, WFLOT F0T,03TY,
@?,;S?Sébdad @egsama& 89X,
What is time management ? Mention the views available in
Microsoft outlook software.

&P [OR

wwj’é Q0TTE0 ? 59, S0ET* B0, 03T, &3?&%37?@5& Tedmom 50371%35&
LTCA0.
What is a note ? Write the steps to create a note in calendar
software.

22. BERUWATYZ CBRPYTHTIR T9w), Betdw, T NYIY, I9R.
Mention any four datatypes in database.

83 89NT T,Znent euZoR ¢ 4x3=12

Answer the following questions :

23. TTIOFTEODY, wOTD T),TFT° ©Fww TT ATRT WIRBH BRTT

<

CINPYTITUAR BT SONF), 9R.

|[RR-A(210)1061 | 5




VII.

24.

9 86-EK (Level-2)

Mention any six options to make changes to a character or word
profile in word processor.

B (BFoeTT) obE), 83, BoradsRy FeOBW P> WA
2TD T TyFSONY, 133, VLTI, WHFAND CINRTOTTR 20T
QTFTIY, WTOR.

Mention two ways to insert a movie clip in presentation and

explain any one type of these procedures to insert a movie clip in

presentation.

&Px0 [ OR
TR0, g@@c?il? FeOTOT T wﬁodasg% WTCA0 TOBY FyAS0NY
%Jaee—-’ﬁdﬁ XeOROT CNT)TTTTR WOT DTTIY, QBOR.

Mention two ways to insert a table in presentation and explain

any one type of these procedures to insert a table in presentation.

25. RPTooBEFE Je@FOZ 0TI 7 FTT0REF T FeOFO030TY, TLIROI
_s)mwmq WTBCA0.
What is recurring appointment ? Write the procedure to create a
recurring appointment.

26. demw@t WHRCOWRO®D 20T ma’iﬁ@@{ &P TONR wRINGY
ewsrbviaplnieln ?NOC%%L QDDA
Mention the two types of languages used to manipulate data and
explain any one of them.

83 BINT T,Z Nt LUZoR ¢ 2Xx4=8

Answer the following questions :

27.

QOT° ejo:béoja TOONFRE 7 DBOBTTOD B0, 03TY. QOT°
503,030, WIRDES 3,50, EOR.
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What is the function of filter option ? Explain the procedure to use

the filter option in spreadsheet software.

28. TeLWET TN TOWOATOE, B3 FSNIYNG aojarmfaig{ T :
i) oT°Beest (ii) 8 03oee3*

(iil) VI REIF (iv) Qe

With reference to the database, write the functions of the

following :
(i) UPDATE (i) CREATE
(iii) INSERT (ivy DELETE

&Pxm0 [ OR

Beouien's ﬁd“ﬁ; ( SELECT ) 39803 TOOIF WY, BTWT FORNT, TR
OB YVTITZTEOIRODT QTOX TN DT QONTI) SR

Explain the function of SELECT statement with syntax and

example and mention its optional clauses in database.

|[RR-A(210)1061 | 5
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II.

III.

IV.

Won - W
SECTION - B

Four alternatives are given for each of the following questions /
incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet: 3 X 1 =3

29. Identify the simple future tense for the given sentence :
"I spoke in English with my friends."
(A) Iwill speaking in English with my friends
(B) Iwill speak in English with my friends
(C) Iwill spoke in English with my friends
(D) I will be spoke in English with my friends.
30. Identify the sentence which is NOT an instruction.
(A) Tell us your name
(B) Sit on the last bench
(C) What is your name ?
(D) Write down today's date on board.
31. Identify the reported speech for the given sentence :
Meena said to me, "I can't go tomorrow."
(A) Meena told me that she couldn't go tomorrow
(B) Meena told me that she can't go the following day
(C) Meena told me that she couldn't go the following day
(D) Meena told me that she wasn't go the following day.

Fill in the blank with suitable word given in the brackets : 1 x 1 =1

32. The words used to connect phrases and words are ............... .
( prepositions, conjunctions )
Answer the following question : 1x2=2

33. What is curriculum vitae (CV) ? Mention any two CV terms.
Answer the following questions : 4x1=4

34. Using the given words, write down a step by step of instruction on
"How to make a masala dosa"

( first, then, after that, finally )

OR
Fill in the blanks with the appropriate preposition given in the
brackets :
i) The florist's stall is ............... Karna's house. ( below, under)
ii)) Walk ...c.......e. you reach the traffic point. ( till, before)
iii) The temple is right next ............... bus stop. ( for, to)
iv) The book store is just ............... the street. ( across, under)
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